= A
N = 0 & AF S 99 N A
20218 & 20 A LBIGH FEAHE= ~ FEHEZ
AR pgAL= SN BHEED
HzM: M XE0 20F EA=s Atz HE
ool NADHYH 2W (e9: & 9)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
o8 AHE = 233,020,297 151,726,026 81,294,271
= 93,394,146
g 53,210,500
A 446,550
= 85,969, 101
Fag== = 49,512,501 28,657,527 20,854,974
= 10,916,574
g 16,338,000
A 175,000
o= 22,082,927
& XY 2D HFAleE Atgl A4 592,600 2,135,600 A 1,543,000
= 440,000
= 152,600
NEZEUH =X 354,600 2,038,600 A 1,684,000
= 300,000
= 54,600
ANEEXNLEERAJ]S 2 15,600 15,600 0
201 2Et24A Y| 15,600 15,600 0
01 AP 2t 2] d| 15,600 15,600 0
OEXN+EMZ 48 9% U 9N 29 15,600
MEBSTAL HLAY 39,000 1,892,000 A 1,853,000
403 XX S M S K201 H 39,000 1,892,000 A 1,853,000
01 MXSHAHXNEE X 39,000 1,892,000 A 1,853,000
OMESSEHAILD HLAAIY 39,000
SHPY FHIE S NIAYE FA 300,000 131,000 169,000
= 300,000
403 XX SHHS K20 A& 300,000 131,000 169,000
= 300,000
01 XIS AES2E X 300,000 131,000 169,000
OF&iz 20PY FHIE XSAL 300,000
= 300,000
DIGHRI&E T AIAHE = 156,000 16,000 140,000
= 140,000
& 16,000
SAHE =8 43 2,000 2,000 0
201 LBt | 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
OZANHERHS &9H 2,000
CAHEHEMAH SRAE% 14,000 14,000 0
201 et | 14,000 14,000 0
02 B232%H| 14,000 14,000 0
OZAIHEEHEMAH(UPIS) KAE% 14,000




M ox
40 5 4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
0SS 3 N Ol XX & A 140,000 0 140,000
= 140,000
308 AHAIEHHSOIA 140,000 0 140,000
= 140,000
01 HXNHHBHELS 140,000 0 140,000
O&AIIDIEHSA XL OIKKE A 140,000
= 140,000
DL =QE0 RFA 82,000 81,000 1,000
DY = HRFA 44,000 44,000 0
203 R =&t 44,000 44,000 0
03 AIMF=XH R =AY 44,000 44,000 0
OnEeLd FEo 2= 44,000
oEYEYR =4 38,000 37,000 1,000
201 L2l 33,000 33,000 0
01 At 22l 33,000 33,000 0
Ot & =2t 33,000
202 04 Hl 4,000 4,000 0
01 = LH 4 1 4,000 4,000 0
OXYGHLAY & AR =& | 4,000
301 LEXZ 1,000 0 1,000
09 HALAHIX A S 1,000 0 1,000
OUYAE(SRE) 1,000
IO KNGO 30,087,850 22,376,800 7,711,050
= 10,476,574
s 16,338,000
EN 175,000
< 3,098,276
NN =a 19,436,276 22,226,800 22,790,524
s 16,338,000
< 3,098,276
NS/ B PR 9,322,000 5,034,000 4,288,000
as 9,322,000
403 MtXISHH S0l & 9,322,000 5,034,000 4,288,000
s 9,322,000
01 X SHHMA=2EE 9,322,000 5,034,000 4,288,000
OgE=dE NAMLTAMS 9,322,000
s 9,322,000
N2 XSTUFASE 3,834,000 3,437,000 397,000
s 3,834,000
403 XSS X201 & 3,834,000 3,437,000 397,000
s 3,834,000




AR REALR SN RS
M pEN XNAHY
Sl NeNE S (29l & 2)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
01 XIS A2 X 3,834,000 3,437,000 397,000
OXE4R UASINAL 3,834,000
Fag 3,834,000
HEXNA JIBAIE XIRAS (EEAIY) 2,870,000 8,480,000 A5,610,000
403 XX SRS K20| & 2,870,000 8,480,000 A5,610,000
01 XIS A =2E X 2,870,000 8,480,000 A5,610,000
OHEX Y JIBHAIE X3 ALY 2,870,000
N RSP YE F0IX&ALE 3,155,000 1,232,000 1,923,000
g 3,155,000
403 XX S M S X201 & 3,155,000 1,232,000 1,923,000
Fag 3,155,000
01 MXSHHNE2EE X 3,155,000 1,232,000 1,923,000
OMNL et =0 XA 3,155,000
g 3,155,000
JHE XIS 22l 5,000 5,000 0
Fag 5,000
202 04| 5,000 5,000 0
= 5,000
01 2L HI 5,000 5,000 0]
OMg e 22 ol 5,000
Fag 5,000
JHE s 2 el (Al2) 22,000 27,800 A5,800
g 22,000
308 XNXISHSO0lI& 22,000 27,800 A5,800
oy 22,000
01 AIKSHHENEXZ 22,000 27,800 A5,800
O Mt 22l 22,000
g 22,000
CHXE = & 22 8,000 130,000 A 122,000
401 Al HI L 2 0HHI 8,000 130,000 A 122,000
01 Al& H| 8,000 130,000 A 122,000
OEAHZXTE=E 8 KA B 8,000
SHOIES SEMNLAL 220,276 435,000 N214,724
403 XX SHS K20 & 220,276 435,000 N214,724
01 XIS AS2E X 220,276 435,000 N214,724
OZHOtS StEMNEAY 220,276
T AIDHE 2t 10,651,574 150,000 10,501,574
= 10,476,574
N 175,000
A2 B2AIE ot Z2ALS 175,000 150,000 25,000
N 175,000




AR BEALR SN RS
M. 2O X9
Sl SADHZ 22 (er:@e)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
403 MR HHS K201 175,000 150,000 25,000
N 175,000
01 XX SHMA2E X 175,000 150,000 25,000
O2R2 SSAIE otE 2 ALY 175,000
o~ 175,000
7.28.~8.11. Sl SFAIE(AFR2AIL) 10,476,574 0 10,476,574
= 10,476,574
403 ItXISHXM S K201 10,476,574 0 10,476,574
= 10,476,574
01 AIXISHM 22X 10,476,574 0 10,476,574
O7.28.~8.11. S 2Mdll SEFRAIL(ARZAIE) 10,476,574
= 10,476,574
HH2IHY(ZELED) 246,051 145,127 100,924
ol 2AHY| 153,003 47,279 105,724
ol 2H Y| 153,003 47,279 105,724
101 @121l 153,003 47,279 105,724
03 I HLZ22 NHE 153,003 47,279 105,724
Ott= 23 B 26,987
-Jla2 3,163, 1003 x6& x1H 18,979
-H&, 02t , 524
17,7243 x150%* 15A| 2t 62 «1H 2,393
-AXE 17,7242 x8Al 2Hx 152 »1H 2,127
-IIExY 40,000 x6& 240
- @& E0y| 3,163, 100& *60%*13] 1,898
- = &l 140,000& *6& x1H 840
-4 85,0002 x6& x1H 510
OZsM=AE HI 20,0002 *13/x1H 20
OgaZ 125,996
Jl2 &bl 93,048 97,848 A 4,800
Jl23Hl 93,048 97,848 AN 4,800
201 et A | 26,288 21,288 5,000
01 AFR22t2l Yl 26,288 21,288 5,000
OJI2+=gtl 13,688
(OPIE=E=2=3:] 12,600
202 (4] 40,360 45,360 A5,000
01 2 oIl 40,360 45,360 A5,000
OJI20 bl 40,360
203 ¥R =&H| 26,400 25,200 1,200
01 J|22FHRF=XY| 6,600 6,600 0
Oagd&d=2% 6,600
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20218 = =04t LB 2EALS ~ dEHE=
432 PEALR A==
M Helotn otdE E2% A5
& XeEe2 2el (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
S22 123,062,656 76,944,716 46,117,940
= 64,156,168
s 16,195,500
EN 271,550
< 42,439,438
Helotn tdst S22 25 107,224,109 62,727,076 44,497,033
= 63,738,817
s 16,195,500
EN 271,550
< 27,018,242
gz 2e 164,714 164,582 132
ANYE NS T A 95,000 95,000 0
401 AIEHI L 2 CHYI 95,000 95,000 0
01 A& HI 95,000 95,000 0
ONYE WSS A 95,000
g9 2el 69,714 69,582 132
308 MtXIEHMSOIH 69,714 69,582 132
01 HXNHHBHEES 69,714 69,582 132
OXge 3&729 2e| 69,714
NSt S AN AL 10,626,050 4,822,000 5,804,050
s 10,354,500
N 271,550
WEMD S HEAY 1,263,000 1,499,000 A 236,000
s 1,263,000
403 XM SA=0l& 1,263,000 1,499,000 A 236,000
s 1,263,000
01 HXSHHMA2E X 1,263,000 1,499,000 A 236,000
OusAtL 2= e ALY 1,263,000
s 1,263,000
Helol 25729 Hd ALY 284,500 824,000 A 539,500
ras 284,500
403 XSS X201 & 284,500 824,000 A 539,500
as 284,500
01 AXSHMA=2EE 284,500 824,000 539,500
O0eol BEsa49 Hea A 284,500
s 284,500
PoNEHEHH & EXNAY 4,225,000 0 4,225,000
s 4,225,000
403 A X EHHS =0l A 4,225,000 0 4,225,000
s 4,225,000
01 X HHMA=E L 4,225,000 0 4,225,000
ORusS=H=ETH S AX ALY 4,225,000
s 4,225,000




raox nx

2 pgAe= SN 2D
M: HPlolD ONE TE2Y PE
9 NADSAHHBAIN LAY

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

Ot st Bl Ed ALY 1,900,000 1,200,000 700,000
s 1,900,000

403 UHXSHHSA=0l& 1,900,000 1,200,000 700,000
s 1,900,000

01 X SHHMA=E L 1,900,000 1,200,000 700,000
Oetdst SElEd ZdAY 1,900,000
s 1,900,000

MEA OHEZ FHAMY 60,000 60,000 0
N 60,000

403 XS HS K201 & 60,000 60,000 0
N 60,000

01 X SHMA=2EE 60,000 60,000 0
OMad OlHE=z HUAY 60,000
EN 60,000

SITDAZ HXAY 1,680,000 840,000 840,000
s 1,680,000

403 X SHS X =0l H 1,680,000 840,000 840,000
s 1,680,000

01 AXSHHMA2E = 1,680,000 840,000 840,000
OdNIZ EXA 1,680,000
s 1,680,000

LESHHE HHAY 1,213,550 399,000 814,550
s 1,002,000
N 211,550

403 A X EHHSH20lA 1,213,550 399,000 814,550
s 1,002,000
EN 211,550

01 HXSHMA=E X 1,213,550 399,000 814,550
OLoBs3 HEMS(ZSE) 1,002,000
s 1,002,000
OLolEs2Y LA (AWAl) 211,550
N 211,550

AEE=AERMH 970,000 1,370,000 400,000
s 970,000

FEEZ2 FEMHLAY 970,000 1,370,000 A400,000
s 970,000

403 XIS E X201 & 970,000 1,370,000 A400,000
s 970,000

01 AXSHHMA2E = 970,000 1,370,000 400,000
OfRIEEZ RXRMEAE 970,000
s 970,000

EP DR DN e RS G o 7,960,000 17,791,690 A 9,831,690
s 4,871,000




432 PEALR A==
M Heloln OFE TRY 7S
2| D) N DR PN N s (2 &HH)
- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ol At o %Eﬁ HR=2
== 3,089,000
E-E2t 2N & A4 5,459,000 3,809,000 1,650,000
Fag 3,121,000
= 2,338,000
401 AlEHIZL 2 0HY| 5,459,000 3,809,000 1,650,000
g 3,121,000
= 2,338,000
01 Al&H| 5,159,000 3,705,000 1,454,000
Oat=E-82t =X & A4 5,159,000
g 2,911,000
o= 2,248,000
02 22l 300,000 100,000 200,000
OME-E2t =Xk AL 300,000
Fag 210,000
& 90,000
Aa-2482 2X& A4 1,926,000 4,300,000 N2,374,000
Fag 1,348,000
& 578,000
401 AlEHIZL 2 0HY| 1,926,000 4,300,000 N2,374,000
= 1,348,000
= 578,000
01 Al&H| 1,726,000 4,200,000 A2,474,000
Oo¢zZ2-24 =X& A4 1,726,000
Fag 1,208,000
=} 518,000
02 2elbl 200,000 100,000 100,000
o224 =X A4 200,000
Fag 140,000
& 60,000
MNSE-QFIC =XE HE 575,000 6,703,000 N6, 128,000
2 402,000
= 173,000
401 Al HI L 204 HI 575,000 2,703,000 N2,128,000
g 402,000
o= 173,000
01 Al&H| 489,000 2,379,000 A 1,890,000
2HESZ2-2FI|C 2XNE HE 489,000
Fas 342,000
& 147,000
02 2elbl 86,000 300,000 A 214,000
ORAMESZ-2ZIC Z2XNE HE 86,000
g 60,000
= 26,000
Xete 2 FH| 35,459,385 34,578,804 880,581
= 17,255,064
o= 18,204,321




42 pEALR A =20
M Helotld otME E2 2=
el NYE2 Fl (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
a-od XY SHEIHESAM 300,000 5,000,000 A4,700,000
401 Al HI K 201 I 300,000 5,000,000 A 4,700,000
01 A& HI 299,000 4,995,000 A 4,696,000
OtlA-84d XL HEIITIAM 299,000
03 A& S THHI 1,000 5,000 A 4,000
Otia-&d N HEZIIAM 1,000
CIef-Bld NEE ST IAM 1,200,000 3,500,000 A 2,300,000
401 AIEHI L 2] 1,200,000 3,500,000 22,300,000
01 A& HI 1,030,000 3,250,000 A 2,220,000
OCtet-td NeE SHEZIIAM 1,030,000
02 Zeltl 170,000 250,000 A 80,000
OCtE-EHe XYE SHEZHIA 170,000
HE-SEIC XY SZHSA 800,000 1,500,000 A700,000
401 A& HIZ 201 8] 800,000 1,500,000 A700,000
01 A& HI 592,000 1,397,000 A 805,000
OUE-3EIC XYL SHEZHFSA 592,000
02 Zeltl 200,000 100,000 100,000
OUE-ZEIC YT SHEZFSA 200,000
03 A& =2 THHI 8,000 3,000 5,000
OUE-3EIC XYL HEZHSA 8,000
AL DIXN=SEBXN 24 1,000,000 1,000,000 0
401 AIEHIZL 20 1,000,000 1,000,000 0
01 A& HI 1,000,000 1,000,000 0
OXNYgZ OIX=EX 24 1,000,000
NEgE2 ZHAMY 29 40,000 43,000 A 3,000
201 ¢er24| 30,000 33,000 A 3,000
01 AF22t2l bl 27,000 30,000 A 3,000
OXgs gRFA ML R0 27,000
02 2324l 3,000 3,000 0
Oet=2=2uWs82s 2494 X 3,000
203 YR =&l 10,000 10,000 0
03 AIMF=XH 2 =AH| 10,000 10,000 0
OXNEZ ALY =&l 10,000
Hat-=01 NYE HEZHFISAM 2,090,000 3,000,000 A910,000
401 A& HIZ 201 I 2,090,000 3,000,000 A910,000
01 A& HI 2,083,000 3,000,000 A 917,000
Olfa-S0l XL HZHISA 2,083,000
03 Al S THHI 7,000 0 7,000




A= ZEAALAZ 2N E21
M. HE|lotD NS =28 =
e NLE=2 JH| (e H)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Ol -0l XL SLEZA 7,000
ZH-ZE N SHIZLEZA 6,000,000 3,000,000 3,000,000
401 AlEHIZL £ 0HY| 6,000,000 3,000,000 3,000,000
01 Al&H| 5,778,000 2,730,000 3,048,000
OXH-ZTE ANYT SILEIBA 5,778,000
02 2teld| 220,000 266,000 A 46,000
OxXF-ZZ AT SILEZA 220,000
03 AlE 201 Y| 2,000 4,000 A 2,000
Ox8-3E YE SHILEZA 2,000
MNE-QA X8 E SIZEZA 500,000 500,000 0
401 Al HI L 2 0HHI 500,000 500,000 0
01 Al& H| 499,000 498,000 1,000
OXNE-Q4F AT ESILEZA 499,000
03 AlE 201 | 1,000 2,000 A 1,000
OME-Q4A X E B EZ A} 1,000
A& S=2C 2 EILAZA 1,000,000 500,000 500,000
401 AlEH|IZL £ 0HY| 1,000,000 500,000 500,000
01 AlEH| 999,000 499,000 500,000
O&A =& SHILEAZA 999,000
03 Al 204 Y| 1,000 1,000 0
OFfA S=2& 2 EILAZA 1,000
=2-44 ANYT SILEZA 500,000 2,000,000 A 1,500,000
401 AIEHIZL 2 0HY| 500,000 2,000,000 A 1,500,000
01 Al&H| 495,000 1,995,000 A 1,500,000
O=2g-a4 e SILEAZA 495,000
03 A& E2HH] 5,000 5,000 0
O2E-444 AT SILEZA 5,000
Hal-S0| AT SEEHZAH(2ZR) 240,000 1,000,000 A 760,000
401 AlEHIZL 2 0HY| 240,000 1,000,000 A 760,000
01 Al&H| 237,000 997,000 A 760,000
Olf3-=0| XeE SZTEDAHR2ZR) 237,000
03 AlE 20| 3,000 3,000 0
Olfet-=0| X SZIDAHRZ2FR) 3,000
No-5 & XYEe SEA ZA 700,000 2,000,000 A 1,300,000
401 Al HI L 2 0HHI 700,000 2,000,000 A 1,300,000
01 Al & H| 393,000 1,797,000 A 1,404,000
OXM-S & AT SLEZA 393,000
02 22ll 300,000 200,000 100,000




42 pEALR A =20
MM HZ|olD NG E2a RH
e NLE=2 JH| (e H)
. - 4 14
AT SN BH O (3H) - MEAY - BES Ol At o %Ei HR=2
OXNA-SH KT SILEZA 300,000
03 A2 HH]| 7,000 3,000 4,000
OXM-5 & Ay S EIA 7,000
EH-Ils YT SEHZA 300,000 2,000,000 A 1,700,000
401 AIEHIZ 201 Y| 300,000 2,000,000 A 1,700,000
01 Al&H| 97,000 1,850,000 A 1,753,000
OEZE~IIE AT SILEZA 97,000
02 2eldl 200,000 150,000 50,000
OgHE~IIIE XIYE SILEZA 200,000
03 Al 201 Y| 3,000 0 3,000
OEZE~IIIE AT SILEZA 3,000
Mgz AT SILEZA 500,000 2,000,000 A 1,500,000
401 AlEHIZL L2 0HY| 500,000 2,000,000 A 1,500,000
01 Al&H| 498,000 2,000,000 A 1,502,000
OAM~a8Z2 XYL LA ZA 498,000
03 Al 20| 2,000 0 2,000
OtA&~8=a AT SILEH ZBA 2,000
EF XSEZ HEZ2A 200,000 3,000,000 A 2,800,000
401 AIEHIZ 201 Y| 200,000 3,000,000 A 2,800,000
01 Al&H| 199,000 2,995,000 A2,796,000
OEF ZEEZ HNEZ2A 199,000
03 Al 20| 1,000 5,000 A4 ,000
OFEF XSE2 HNEZA 1,000
S ~X A XIS EILEZA} 1,500,000 1,500,000 0
401 Al HI L 2 0HHI 1,500,000 1,500,000 0
01 Al& H| 1,500,000 1,495,000 5,000
OSA~X A AT ESILEZA 1,500,000
NEYE AIZEHIS I A 28,822 35,804 N6,982
401 AlEHIZL 2 0HY| 28,822 35,804 N6,982
01 Al&H| 28,822 35,804 N6,982
OXEE AISEHEAHESEA 28,822
MNE-MH XY SILEZA 1,300,000 0 1,300,000
401 AlEHIZL £ 0HY| 1,300,000 0 1,300,000
01 Al&H| 1,297,000 0 1,297,000
OdlE-AH X SILEZA 1,297,000
03 A& E2HH] 3,000 0 3,000
OXNE-HMH AT SILEZA 3,000
7.28.~8.11. SMoll SERAMY (s AHE2) 8,743,391 0 8,743,391




432 PEALR A==
o oot NS 2 IS
& XYE2 FH (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 8,743,391
401 A& HIZ 201 I 8,743,391 8,743,391
= 8,743,391
01 A& HI 8,605,568 8,605,568
Ogs A=z S22 SRS AM 8,051,075
=2 8,051,075
O2s ALz S SASAM(FIH) 554,493
= 554,493
02 Zeltl 130,823 130,823
OZs ALEZ S2Moll S23A 130,823
= 130,823
03 Al 20 HI 7,000 7,000
OZs AEEZ2 SNl =SR2 3 A 7,000
= 7,000
7.28.~8.11. Sl SPAML (Y ASER) 8,511,673 8,511,673
= 8,511,673
401 A& HIZ 201 I 8,511,673 8,511,673
= 8,511,673
01 A& HI 8,371,895 8,371,895
Ot A=2E= S22 =27 SA 3,528,968
=2 3,528,968
Oty HIZTZ S2MaH =27 SAH(FI 4,842,927
= 4,842,927
02 Zeltl 130,778 130,778
Ot A=2E= S22 =27 SAt 130,778
= 130,778
03 AlZ S THHI 9,000 9,000
Ot AZE2Z S22l =27 SAt 9,000
= 9,000
2 zaaa 5,499 5,499
305 HH&a =S 5,499 5,499
01 A S 5,499 5,499
OZ=dith &3 5,499
SHEZZ FH| 46,943,960 46,943,960
= 46,483,753
< 460,207
7.28.~8.11. S2Mdl SFAL (2L - sHELZR) 46,943,960 46,943,960
= 46,483,753
< 460,207
403 XA SA=0l& 46,943,960 46,943,960
= 46,483,753
< 460,207
01 X SHHMA=E X 46,943,960 46,943,960




2
=} =2 T

Helotn otdet E2% 15

- sHEZZ FH

% - 4 14
2.2H-FY .o (3H) 0l & o e HIDE2
OZ2& - sHEZZ SN = 20,865,327
= 20,405,120
< 460,207
OZC - SHEZZ2 S22l ERSAH(EE)(
FIh) 26,078,633
= 26,078,633
S237 HZE2Y 25 4,500,000 4,000,000 500,000
E3-01]2 NLE SZEHEIA 4,500,000 4,000,000 500,000
401 Al& I 28I 4,500,000 4,000,000 500,000
01 A& HI 3,920,000 3,420,000 500,000
Oog=-0112 N 23 3,920,000
02 22l bl 580,000 580,000 0
OE=-01d2 XNYe xEHEZ 580,000
[BFAIE 22| 600,000 0 600,000
JletAld 2tel = =8 600,000 0 600,000
401 Al& I 28I 600,000 0 600,000
01 Al &t 600,000 0 600,000
OJIBAIE 22|HE =& 600,000
f S MGt NGA848 54 466,351 375,000 91,351
= 417,351
= 49,000
[FHL LS 2AS 3,000 3,000 0
AeuAEds 2 =D 3,000 3,000 0
201 £B-2d| 3,000 3,000 0
01 At 2t 2|l 3,000 3,000 0
OALY S2Z L +HHH 3,000
SANHEEZTZ FHI 46,000 372,000 A 326,000
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